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Question 1.Select the related word/letters/numbers from the given alternatives:

&2 I farehedt & & Hafeer Yree 31aR/&Ear i gfaT
Accomodation : Rent :: Journey : ?

37a : R AT ?
Options:

1) Expense

<qg

2) Octroi

i

3) Freight

HIST

4) Fare

o

Correct Answer: Fare

o

Candidate Answer: Fare

o

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)

few 10 faemedt 3 & Trfrtrd Qree/ 3eR/EEaT HI gfaT
ECFG : FDGH :: SQTU : ?

Options:

1) TRVU

2) TVUR
3) TRUV

4) SRTV
Correct Answer: TRUV
Candidate Answer: TRVU

Question 3.Select the related word/letters/numbers from the given alternatives:

e a3 faehent & & Hafeerd Yree) 3R/ FEaT i giav
3:243::5:7?

Options:

1) 125

2) 625

3) 3025

4) 3125
Correct Answer: 3125
Candidate Answer: 3125
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

w 1w fasredt & & fawa ersey 3rew/dear & 9w
Options:

1) Kilogram

[Exipie

2) Quintal

fFacer

3) Ton

Col

4) Gallon

et

Correct Answer: Gallon

Eico

Candidate Answer: Gallon
e

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

U 1w fashedl & & Tawe ereey 376T/HET 1 v

Options:
1) DBZ

2) QOM
3) USQ

4) JIN
Correct Answer: JLN
Candidate Answer: JLN

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

U 1w fashodl & & Tawe efee) 37&T/HET T AT ?

Options:
1) 36

2) 64
3) 54

4) 108
Correct Answer: 64
Candidate Answer: 64

Question 7.Arrange the following words as per order in the dictionary.
AT 2sel &1 Aseehie # T 97T e & e AT

1. Situation 2.Silver 3.Sitter 4.Simple 5.Signal



Options:
1)5,1,3,2,4

2)1,4,2,5,3
3)52,43,1

4)4,2,1,5,3
Correct Answer: 5,2, 4,3, 1
Candidate Answer: 5,2, 4, 3, 1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TrATAf@T Teet # Ueh 37egehe Team 147 §, fSrast veh ve ofcd &1 few 1w faehedl & & a @éY faehoq giav Sit 3ieshar sl 1 e

ZXV, USQ, PNL, ?
Options:

1) MJH

2) JHF

3) KIG

4) KII
Correct Answer: KIG
Candidate Answer: KIG

Question 9.In the following question, one term in the number series is wrong. Find out the wrong term.
ArAfafd weat # va 37ea e §, Tt vk vg aTad §1 31eid ve A Hifsre

3, 10, 27, 4, 16, 64, 5, 25, 125
Options:

1)3

2)4

3) 10

4) 27
Correct Answer: 10
Candidate Answer: 10

Question 10.

'A' and 'B' are brothers. 'C' and 'D' are sisters. A's son is D's brother. How is B related to C?

A' X 'B' #71 €1 'C'3R 'D' Fg=T &1 A F1 YT D 1 1S &1 B 1 C A FATHIL § ?
Options:

1) Father

ar

2) Brother

9

3) Grandfather

IEGIE
4) Uncle
arEr

Correct Answer: Uncle
rEr

Candidate Answer: Uncle
qrr

Question 11.A gets more marks than B but less than C. D gets less marks than E but more than A. If C gets less than D then who amongst A, B, C, D, E gets the
highest marks?

A, B & 31T o C & &# 37 Iredt &l 81 D, E & T g A & e 37 o1edt #alr &1 If& C, D & & 3 JTed 3T § a I8 9a1sU f A,B,C,D,E & Hardt Hftr 37
SlsT UTed FAT R ?

Options:

1C

2)D

3)E

4)B
Correct Answer: E
Candidate Answer: E



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

rfaf@a fawedt & & a5 oee 9w St few 10 eree & 31eRT &1 4T 0k ST61 T ST Hehell ?
EXORBITANT
Options:

1) BITTER
2) EXPORT
3) EXNORA

4) EXTANT
Correct Answer: EXPORT
Candidate Answer: EXPORT

Question 13.If D = 4
DESK = 39 ,then
the value of DRAW is

aflgD=4

3R DESK = 39 &, ar
DRAW far&eh sRT&R 8191 ?
Options:

1) 57

2) 46

3)45

4) 36
Correct Answer: 46
Candidate Answer: 45

Question 14.If '+' stands for subtraction, '-' stands for addition, 'x' stands for division and '+' stands for multiplication, then which one of the following equation is
correct?

AT + &7 3 T R, - T 3 ST 8, x 7 309 97091 B, 3R+ a7 30 9on B| Y Tretof@a 7 & sler-ar walenor v & 2

Options:
1)35+4-25x5+5=28

2)35:4-25x5+5=61
3)35+4-25x5+5=41

4)35+4-25x5+5=56
Correct Answer: 35 +4-25x5+5=56
Candidate Answer: 35 +4-25x5+5 =56

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

15 x 26 = 6512

29 x 36 = 6923,

46 x54 =7

F THIHOT Ueh ARG JOTel | gl fohT 1T | 38 3R <X T 710 faehied] & & el Sea goia fof@ge ?
15 x 26 = 6512

29 x 36 = 6923

46 x54 =7

Options:
1) 5464

2) 4645
3) 4564

4) 4465
Correct Answer: 4645
Candidate Answer: 4645



Question 16.Select the missing numbers from the given alternatives

Tow 10 fashed & & ocd HEET #A1 HIfIT ?

7 14 |4
4 12 9
6 24 ?

Options:
1) 19

2) 16
3)21

4) 20
Correct Answer: 16
Candidate Answer: 16

Question 17.Rohan walks a distance of 3 kms towards North, then turns to his left and walks for 2 kms. He again turns left and walks for 3kms. At this point he turns
to his left and walks for 3 kms. How far is he from the starting point?

Vgl SocX 1 3] 3 Tp.#0. oY g1 7 AT &, AT 3791 o1 3N H5HhT 2 .7 o7oh Tolclr §1 T8 oY a1 3T 745 1T & 31K 3 R, a0, eh wroret &1 59 i & g o o
3 FSHT 3 .70, Tl §| 319 TF 31eT 3TRIF97h TUTeT & fovctal foh.af. gy & 2
Options:

1) 5 kms

5 for.a.

2) 3 kms

3 fra

3) 2 kms

2 iR

4) 1 km

1 R

Correct Answer: 1 km
1 fF.a

Candidate Answer: 1 km
1 fra.

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. Some principals are teachers.

2. All teachers are students.

Conclusions: I. All principals are students.

I1. Some students are principals.

TR U & U IT & ey ¥ 71 §, foreTah 31T &Y s/ A=gany, 1 3R 11 el 3 &1 31T9en! faaR el & T e O § I8 98 A= o a2l &
et T 21aT 211 3me! R et & & RU a1 gy & @ ae-ar AP &7 & 98 e/ Araar ferer o1 ahar g ?
I : 1. T Ty Rers §)

2. a3 T oI

sy ;I el urenerard o €

I1. $& B e g

Options:

1) Only conclusion I follows

haol Avhy I TE &

2) Only conclusion II follows

ao sy 11 T &1

3) Both conclusion I and conclusion II follow

sy 1 3R 11 gt wér €

4) Neither conclusion I nor conclusion II follows

AT aY sy 1 a8y & 3R a1 € w11 @y 81

Correct Answer: Only conclusion II follows
Fael sy 11 T &1

Candidate Answer: Only conclusion II follows
ael shy 11 TE &1



Question 19.Find the number of triangles in the figure.

& 378 3mapfer 3 freey BT € 2

s,

Options:
1) 12

2) 20
3)22

4) 24
Correct Answer: 22
Candidate Answer: 20

Question 20. Identify the diagram that best represents the relationship among the classes given below.
Criminals, Judges, Thieves
a8 3N AT st eafaf@d aeit & S a8 Fratr I e2idr §| 3R, sgramder, 9%

Options:
1)

3)
- . i = .- ){ T ™
AR S N
I I O
A hY Jl ll‘\ -‘ll ,"l.
s E
4)
’_/-—' T &
/ /"_—HH \\\
s // . \\\
e B \
((( V)
i I\ \ f‘l .'I !
LY g
Mo S /s /j
\\ \\ /// /
\.\.E___: '__ .

Correct Answer:

f/' e H'\\I f:_j]



Candidate Answer:

O

Question 21.Which answer figure will complete the pattern in the question figure?

- SocX 3Tt T2 JMFTA & FTTd T QT M 2

A1
FERE
!

N

)

[

Options:
1)

2)

3)

4)

Correct Answer:




Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden.

& 1 Seal ITHTcT # A 38 3eak i 1 IfAw fows yea arpfa Afka &2

Options:
1)

2)

3)

4)

S0 |gh] | W

Correct Answer:

%

Candidate Answer:

%




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

T el shrrer Y, i et 3Tt F R 3TER HigH Fer ST AT Wek F §1G aF e eal S Sk s e ?

Correct Answer:

Candidate Answer:

:




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T I0T A MN @7 OR T AT AT & 1 Seall ITHTaal A F Hlar-Ar 3repfar weet mefar i1 @ gfafaes gl 2

Options:
1)

Correct Answer:

Candidate Answer:




Question 25.rices can be represented first by its row and next by its column, e.g., 'L' can be represented by 00, 13, 24 etc., and 'T' can be represented by 59, 66, 78,
etc.
Similarly you have to identify the set for the word 'CORK'

At weet # fawedt 3 RoT a1v Fear-wg, 3w & & J91t ganT arifT 970 §, St fo s few a1w 2 smeggt # 81 3megp | & Sam iR dfaa fraear o a4 aw &
TS Y, N IMIE LI & 58 9 T, 57 ITTE! ¥ U 38R I Tgel 30T Gfad 31X T1G F T+ TCAT GIRT SRIAT ST FehelT &1 31607 & forw, L &1 00, 12, 24 377 garT
CRITIT ST Fhell & AT T Y 59, 66, 78 31T GERT GRffaT ST HehelT 1 58 A6 & JTIhT fAT 2ree; 'CORK' % T Fafg Y wgiietatr g

0 1 2 3 4 5 6 7 8 9

0 |L |E |O |S (£ :5 R |K |U [N |T

1 0s |c |t lejo| [6 [N]|T R |k |U

2 E o |5 C L 7 K u [N |T R

3 |Cc [L |E [O |5 8 |T |[R |K |U |N

4 |0 |5 ic L [E |9 |U [N |T (R |K
Options:

1) 42, 21, 67, 58
2) 23, 33, 86, 85
3) 11, 40, 55, 75

4) 30, 14, 97, 56
Correct Answer: 11, 40, 55, 75
Candidate Answer: [ NOT ANSWERED ]

Question 26.Which of the following was not advocated by Mahatma Gandhi?

FgTcAT el & TRrffld & & foraerr awdier w181 fhar ar ?
Options:

1) Prohibition

e forser

2) Heavy Industries

AT 3ET

3) Village Panchayat

T JATT

4) Dignity of Labour

o HT AREAT

Correct Answer: Heavy Industries
Y 3EhT

Candidate Answer: Prohibition
e s

Question 27.The term of a Governor is

TTITel FT FRIHI fohlel I¥ HFTEATE ?
Options:

1) 4 Years

49§

2) 5 Years

53y

3) 6 Years

6 ay

4) 3 Years

3a¥

Correct Answer: 5 Years
53§

Candidate Answer: 5 Years
53§

Question 28.0ne of the following was not associated with the Gadar party

frfafla & O fohgeRr Tarer e aTet A 78T 21 ?



Options:

1) Lala Hardayal

ofTelT gReTel

2) Baba Gurdit Singh

e IRE e

3) Mohammad Barkatullah

Hgae, Tehcoel

4) Sohan Singh Bhakna

e g AT

Correct Answer: Baba Gurdit Singh
e IRE g

Candidate Answer: Baba Gurdit Singh
T IRA g

Question 29.The hormone that stimulates heart beat is

BT T Ushel I Scdloid e aTell gTH PlT-ar g ?
Options:

1) Thyroxine

AT

2) Gastrin

e

3) Glycogen

TSIt

4) Dopamine

ST

Correct Answer: Thyroxine

AT

Candidate Answer: [ NOT ANSWERED ]

Question 30.Transformer is a device to convert

gl ol aRafia e & giFa § 2
Options:

1) D.C.to A.C.

AL T A

2) Low voltage D.C. into high voltage D.C.
FH dleco 3.4 FF 35T dlecsT SLATH

3) Low voltage A.C. into high voltage A.C.
FH dlect U8 & 329 dlees AN A

4) Mechanical energy into Electrical energy
3 Sl Y e Tl 3

Correct Answer: Low voltage A.C. into high voltage A.C.
e dlecst U &l 359 dlecol TATH

Candidate Answer: Low voltage A.C. into high voltage A.C.
e dlecst U4 Al 39 dleco TANH

Question 31. is a type of computing that performs computation, storage and even applications as a service across a network.

FHECGIEA T Plet-HT FehR FHFEYLAA, TR AR TeT o7h T Toelianeret 1 8 N sieadh 7 afde & &9 F g ?
Options:

1) Cloud Computing

FAI3S HFCY[eaT

2) Distributed Computing

3) Parallel Computing

4) Virtual Computing

EEECE T )

Correct Answer: Cloud Computing
FAI3s FHFCYFar

Candidate Answer: Cloud Computing
FlI3s FHFCYfar

Question 32.The presence of air bubble in blood stream is dangerous to life because

T aTg F §aT & Goigel I Gledl Silael & TIT FAT TeeAreh gl & ?



Options:

1) Air combines with blood forming a complex
&aT T & T Ao SIfeeldT 3cdeet Y ST 8

2) The flow of blood increases manifold

el 1 YdTE g 0N 9 ST §

3) The flow of blood is obstructed

T&Fd & YaTg H STEN 3¢t gl STl &

4) The pressure of blood increases manifold

TR QT g IO G ST &

Correct Answer: The flow of blood is obstructed
TFA & AT H ST 3c9++7 81 ST g

Candidate Answer: The flow of blood is obstructed
IFd & UGTg H 1T 3cTeoT & ST §

Question 33.The study of relation of animals and plants to their surroundings is called

-1 & ATeTeroT # G 3R diti & Heetr & 3eqel 1 91 el ¢ ?
Options:

1) Ecology

giRfeufas faae

2) Ethrology

GEUCACEIC)

3) Genealogy

ERICCIRCEIC)

4) Iconology

EIGEIKIE=]

Correct Answer: Ecology

aRT&fee faame

Candidate Answer: Ecology

TRT&fa faame

Question 34.Who among the following was not a member of Boxing team of India at Rio Olympics?

ArAfaRRd 7 & et R3N 3Nefed F oA siferder S &1 Ty 767 47 ?
Options:

1) Shiv Thapa

g 2mar

2) Manoj Kumar

Falol FHAR

3) Vikas Krishan

Taenrg or

4) Avtar Singh

¥9ar g

Correct Answer: Avtar Singh
39ar g

Candidate Answer: Avtar Singh
39ar g

Question 35.As per the 2016-17 Budget, the largest source of money to the Government of India is

2016-17 % ST & HJER, R THR & THT Il 7 T o137 AereT AT g ?
Options:

1) Income Tax

3T A

2) Corporation Tax

[GEEETy

3) Non-tax revenues

IN-a T

4) Borrowings and other liabilities

FOT U4 37 e

Correct Answer: Borrowings and other liabilities
FOT Td 3T gifca

Candidate Answer: Borrowings and other liabilities
FOT TG 3T gica

Question 36.According to Malthusian theory of population

AR & SIAEEAT 8y & 38R



Options:

1) Population increases in geometric ratio, food supply increases in arithmetic ratio

SITHEAT SATANT 3Tt 7 qoech §, Wieg 3mqfet a1forehar sy # aecd g |

2) Population increases in arithmetic ratio, food supply increases in geometric ratio
SITEET IO 31T & Fecl! , TeF 3Tl AT 3]l H aec § |

3) Population increases in a harmonic mean, food supply increases in geometric ratio
SITHEAT IO HET H declt §, T Il SATAMT 3Tl H aec ¢ |

4) Population increases in a harmonic ratio, food supply increases in a arithmetic ratio
SITHEAT JONeAT AT H aaclt §, TeF ITYfel IO 3rgard 7 Foch & |

Correct Answer: Population increases in geometric ratio, food supply increases in arithmetic ratio
SIAHEAT SATANT Iqute 7 qoch §, Wieg mqfct aforehar 3egare F s ¢ |

Candidate Answer: Population increases in geometric ratio, food supply increases in arithmetic ratio
SITHEAT SATANT It 7 qoch §, Wieg mqfet a1forehar g # aecd ¥ |

Question 37.The weight of an object is maximum

Tl A& o 31fRehcH R foher T8urfey & ghm 2
Options:

1) on the equator

AT Y@T

2) on the surface of the earth

g2l &I Felg W

3) at the centre of the earth

g2l & Feg W

4) on the poles of the earth

g2l & ¢at I

Correct Answer: on the poles of the earth
g2l & ¢at I

Candidate Answer: on the surface of the earth
gl &I Tl W

Question 38.Which of the following plays an important role in photosynthesis?

Tofld 31 & T Johmr TReIoT 7 Fgeaqot #fFe eamarg ?
Options:

1) Chloroplast

FARICART

2) Centrosome

HerdeT

3) Tonoplast

AT

4) Nematoblast

AHACISIRT

Correct Answer: Chloroplast

FAR AR

Candidate Answer: Chloroplast
FARICART

Question 39.The impact of Green Revolution was felt most in the case of

R wifed o FaifRs vsma forast @ arr ar?

Options:
1) Wheat

2) Rice
drdel

3) Pulses
arel

4) Oil seeds
fererget

Correct Answer: Wheat

B

Candidate Answer: [ NOT ANSWERED ]

Question 40.What is a bank rate?

dr e Fry?



Options:

1) Rate at which Central bank of a country advances loans to other banks in the country

Tg X fore U fondll =T T hegilT &k, S o 31w dehi T FOT &Il &

2) Rate at which banks advance loans to the customers

I8 R T3 I 3§ FIgeh! Y FOT AT

3) Rate at which banks lend among themselves

T8 X T3 oY 8 WER RO &

4) Rate at which banks lend to money lenders

T8 X T UX & FgIoieil T KOT S &

Correct Answer: Rate at which Central bank of a country advances loans to other banks in the country
g X T 9N el &1 T et e, ST & 3757 S &1 HoT o1 &

Candidate Answer: Rate at which Central bank of a country advances loans to other banks in the country
TE & Forg X Tondll &2 T el &, S & 31T el &l HOT ST &

Question 41.Which of the following tax systems will help to reduce economic inequalities in India?

fArfaf@d 7 & HlF-Br T JoTel 5Ra 7 31w fAwAar w1 w7 F 7 FEH grelr ?
Options:

1) Regressive Tax

i X

2) Progressive Tax

YA

3) Flat rate tax

HHATT eI T

4) None of these

STH A S ET

Correct Answer: Progressive Tax
YA T

Candidate Answer: [ NOT ANSWERED ]

Question 42.President of India can be removed from his office by

HRA & IASCITT BT 3Tk UG I hiel gl Tohcll & ?
Options:

1) Prime Minister of India

AR & TETHAT

2) Chief Justice of India

I o & =

3) Parliament

HHS,

4) Lok Sabha

ek el

Correct Answer: Parliament
Ean:rcy

Candidate Answer: Parliament
|G

Question 43.A broad, low embankment built up along the banks of a river channel during floods is called

1T & SRIT FET AeTel & FaART o T F7 IS UF A1 FRARSEr T T Fged & ?
Options:

1) Delta

Bzl

2) Levee

Grchi

3) Flood Plain

916 &1

4) Dune

S

Correct Answer: Levee
deay

Candidate Answer: Delta
3ecT

Question 44.At which stage in its life cycle does the silkworm yield the fiber of commercial use

A HIE 39 ST w5 3 TR TROT # FTOIGT e F9T o o deT T & ?



Options:
1) Larva
CIcH

2) Egg
3fust

3) Pupa
o

4) Imago
ot e
Correct Answer: Pupa
v

Candidate Answer: Imago
ot e

Question 45.Quality of a musical note depends on

it 3 G P e X R AN 2
Options:

1) Fundamental frequency

2) Amplitude of the wave

Grofecic

3) Harmonics present

Hister sl (Te1E)

4) Velocity of sound in the medium
AeTH 7 eafar & aer

Correct Answer: Harmonics present
HiS[er g (FeTrE)
Candidate Answer: [ NOT ANSWERED ]

Question 46.The tides in the sea are primarily due to

TG A ITRIRIT: SAR-STIET TR HIROT T § ?

Options:

1) the atmospheric effect of the Earth

G2l T ARYAUS N T

2) the gravitational effect of Venus on the Earth

Gl O 5 T IECATHEOT FHT

3) the gravitational effect of the Sun on the Earth

G R G HT TECAHIOT THT

4) the gravitational effect of the Moon on the Earth

G WX e T T TEcdThYOT Fea

Correct Answer: the gravitational effect of the Moon on the Earth
G UX TG HT I TECATRIOT FEHIT

Candidate Answer: the gravitational effect of the Moon on the Earth
G WX TGHT T IECATRIOT FETT

Question 47.The five permanent members of the UN security council are

TR TTSg GI&T TRVG & I TR T Fle-let § ?
Options:

1) USA, China, France, Russia and Canada

3R, DA, 1, T 3N HafTaT

2) China, France, Russia, UK and USA

3) Japan, Germany, Russia, UK and USA

ST, ST, &4, e 3% 3mRer

4) Germany, China, USA. Russia and UK

Correct Answer: China, France, Russia, UK and USA
Candidate Answer: China, France, Russia, UK and USA

Question 48.Which of the following is not correctly paired?

TFATafd & & hleT-a1 oo eI e & ?



Options:

1) Sania Mirza- Tennis

aiferar - 2w

2) Saina Nehwal - Badminton

TISAT AgaTel - SsffeT

3) Jhoolan Goswami - Cricket

gt I - fohehe

4) Jeev Milka Singh - Chess

Sia foear &g - gt

Correct Answer: Jeev Milka Singh - Chess
Sia e &g - gt

Candidate Answer: Jeev Milka Singh - Chess
Sha e &g - gt

Question 49.Aryabhatta and Kalidasa were in the court of which Gupta Emperor?

3Te7E 3R FIelerd R ‘e’ A & @R 7 & ?
Options:

1) Kumara Gupta I

TR 1

2) Chandra Gupta 11

?JR?I‘?T II

3) Samudra Gupta

[

4) Skanda Gupta

Teheadled

Correct Answer: Chandra Gupta II
Tegaed 11

Candidate Answer: Chandra Gupta II
Fegaed 11

Question 50.What process takes place during the youthful stage of a river?

A Y TEOTTEAT F DlT-T AT BN ?
Options:

1) Valley widening

o &t st T

2) River rejuvenating

FEN FT FRITFHET HTAT

3) Valley deepening

EITEY Y I AT

4) Meandering

Correct Answer: Valley deepening
HTEY Y IR e

Candidate Answer: Meandering

Question 51.If 10 people can do a job in 20 days,then 20 people with twice the efficiency can do the same job in

afg 10 safera fordlT 1o T 20 &7 7 T Fohel § Y GIIGHT AT aTet 20 SATHA 3 1o T foctet feret 3 O 3T 2
Options:

1) 5 days

5 &t

2) 10 days

10 &t

3) 20 days

20 et

4) 40 days

40 &1

Correct Answer: 5 days

5 feet

Candidate Answer: 5 days
5 feet

Question 52.ABCD is a quadrilateral in which BD and AC are diagonals then

ABCD e =IJ3{sT 8, Toree¥ BD 3R AC faanut €, at



Options:
1) AB + BC + CD + AD< AC + BD

2) AB + BC + CD + DA>AC + BD
3) AB + BC + CD + DA=AC + BD

4) AB + BC + CD + DA>2(AC + BD)
Correct Answer: AB + BC + CD + DA>AC + BD
Candidate Answer: [ NOT ANSWERED ]

Question 53.Two consecutive discounts x% and y% is equivalent to the discount

X% 3R Y% %I hAaR ge HaAiaild & & fohg ge & T#e gl ?

Options:
1)
( x=k X )%
100
2)
J g
(x +¥+ 1uo) %
3)
N
(x e )%
4)
.. T
(x + 9 100)'ﬁ
Correct Answer:
P
(x + 9 mo)fﬁ
Candidate Answer:
(x +¥y+ ﬁ) %
100

Question 54.A box of sweets was distributed between A and B in the ratio 3 :4. If A got 36 sweets , what was the total no. of sweets

e TASTS T fBeam A 3R B & dffer3 : 4 & 3reure # aifer 2| AT A 1 [Aers & 36 gohs e a fAiers & ot dear F=m & ?

Options:
1) 12

2) 84
3) 144

4) 27
Correct Answer: 84
Candidate Answer: 84

Question 55.If the ratio of cost price and selling price is 4 : 5, then the percentage of profit will be

Ife v Fed IR [ashg 7T 4 1 5 T I g1 AT of1ef Tl ereT qamsy ?

Options:
1) 20

2)0.1
3) 10

4) 25
Correct Answer: 25
Candidate Answer: 25

Question 56.If the value of a company stock drops from Rs. 25 per share to Rs. 21 per share, the percentage decrease per share is

Ife; ferelr hararell o ETeh T F{ed Rs. 25 9fl QX & FI T Rs. 21 9t AT & 971 &, &Y 9fcd A2 & #{pr 3 ooy wifierd 1 Rrae g & 2

Options:
1)4

2)8
3)12

4) 16
Correct Answer: 16



Candidate Answer: 16

Question 57.A farmer travelled a distance of 61 km in 9 hours . He travelled partly on foot at a speed of 4 km/hour and partly on bicycle at a speed of 9 km/hour .
The distance travelled on foot is

Teh: ot o 9 TU # 61 foR.2M. ot AT 7 Y| AT 3 Foo T 4 R,/ Y IHAR & e o 1 81 3R T Aran 9 oA, /auer i IR A Wrsfeher ey 7 i E,
ar 38 fraei I deer Hr ?
Options:

1) 14 km

14 f.a.

2) 16 km

16 ..

3) 20 km

20 ..

4) 18 km

18 for..

Correct Answer: 16 km

16 ..
Candidate Answer: 16 km

16 ..
Question 58.If ( 2x - y )2 + ( 3y - 2z)2 = 0, then the ratio x:y:z is

211?:.’(2x-y)2+(3y-22)2=0€reﬁx:y:za;r31§fn?r$nr-raﬁﬁm?

Options:
1)1:3:2

2)1:2:3
3)3:1:2

4)3:2:1
Correct Answer: 1:2:3
Candidate Answer: 1:2:3

Question 59.If ( 4a - 3)2 = 0, then the value of 64a> - 48a2 + 12a + 13 is

fd( 4a - 3)2 = 0 gr Y 64a3 - 48a2 + 12a + 13 I H FABY ?

Options:
1)0

2)11
3)22
4)33

Correct Answer: 22
Candidate Answer: 22

Question 60.In the fig A ABC is inscribed in a circle with centre O. If ZABC = 30° then £ACB is equal to

few a1¢ for # 38157 ABC 1 Ueh ot ToIEehT S feg O &, 36 el SoT147 I § 31 Ffe i1 ABC = 300 &Y, aY HIUT ACB T HIef STST?

A

30

Options:
1) 30°

2) 60°
3) 50°

4) 90°
Correct Answer: 60°



Candidate Answer: 60°

Question 61.Three consecutive angles of a cycle quadrilateral are in the ratio of 1 : 4 : 5. The measure of fourth angle is

T ThIRT TGS & HIAE PIOTL 2 41 5 o I 3 §| T P07 T AT FABT?

Options:
1) 120°

2) 60°
3) 30°

4) 80°
Correct Answer: 60°
Candidate Answer: 60°

Question 62.The value of cos? 20° + cos? 70° is

€05220° + cos? 70°%T AT TATST?
Options:

1)0

2)1

3) %

4)1/V3
Correct Answer: 1
Candidate Answer: 1

Question 63.Nine students of a class contribute a certain sum of money . Seven of them gave Rs. 50 each and the other two gave respectively Rs. 50 and Rs. 90 more
than the others. The average contribution of the class of 9 students is

el hetl o 9 BT o RN T ATerT Rl § 1373 A 7 O7 § @ T Rs. 50 T IWTETT &1 & AR 317 & @l 9 ©ril eaRT fow 1w 3ihaet 9reret & sharer: Rs. 50 3R
Rs. 90 31f8h & § | aT & @elr 9 orat & 3 TRTET SdsT ?

Options:
1) Rs. 70

2) Rs. 50
3) Rs. 100

4) Rs. 120
Correct Answer: Rs. 70
Candidate Answer: Rs. 70

Question 64.If a = 101 then the value of a( a?-3a+ 3)is

gfea =101 8, ar

a( a2 - 3a + 3) & A gdBT?
Options:

1) 1000000

2) 1010101

3) 1000001

4) 999999
Correct Answer: 1000001
Candidate Answer: 1000001

Question 65. i
2 —=x+ti.

Ifx=2+ V3, then the value of el

r—x+1 s
afEx = 2+~f§3’r.ﬁ’rm$r AT 91T

Options:

1) %3

2)3,

3)Ys

4)3/5

Correct Answer: 3/5

Candidate Answer: 3/5



Question 66.In AABC, £B=35°, 2C=65° and the bisector of ZBAC meets BC in D. Then ADB is

Ffe; 3817 ABC # IUT B = 35°, I0T C = 65° 3R 10T BAC T gfdsfieieh BCHI D U= FHeIdT & oY 10T ADB 3T g191T ?
Options:

1) 40°

2) 75°

3) 90°

4) 105°
Correct Answer: 105°
Candidate Answer: 105°

Question 67.AB is a diameter of a circle. C is a point on the tangent drawn at A . If AB = 8 cm and AC = 6 cm , then the length of BC is

AB Rl goct o1 SATH &1 A WX T 915 Teh T9T X1 T C Ueh fowg &1 AT AB = 8 WA, 3R AC = 6.7, o BC T oaTTg ST ?
Options:

1) 10 cm

10 9.3

2) 14 cm

14 8.

3)5cm

5.7

4)7cm

7 QA

Correct Answer: 10 cm

10 .4

Candidate Answer: 10 cm

10 &.4.

Question 68.From a point P on a level ground , the angle of elevation to the top of the tower is 30° . If the tower is 100m high , the distance of point P from the foot
of the tower is ( Take V3 = 1.73)

Forelr acrer 97f R fareg P & AT & o R Serarat it ot 300 &1 1f AR 100 #fex 3l g1 IR 3 e 3 fareg P 1 g8 7w @19t ? (75 At g i V3 = 1.73)
Options:

1) 149 m

149 A

2) 156 m

156 Hiex

3)173m

173 e

4) 188 m

188 AKX

Correct Answer: 173 m
173 AX

Candidate Answer: 173 m
173 AX

Question 69.If the sum of the digits of any integer between 100 and 1000 is subtracted from the same integer , the resulting number is always divisibleby

Ff& 100 3 1000 & o fRe qoiies & et & S5 1 38 Ui ¥ TR ST dF TR FEaT gaer Ffafad 7§ & e e gefr 2

Options:
1)2

2)5
3)6

4)9
Correct Answer: 9
Candidate Answer: 5

Question 70.If a sum of money deposited in a bank at simple interest is doubled in 6 years, then after 12 years, the amount will be

I I YA ek 7 [LROT ST & T AT A 0T 6 a8 H gorelt 1 el 8,1 12 A & ag o7 iRy fveraht ghar 2



Options:
1) 5/2times the original amount

5/23om
2) 3times the original amount
3 7em
3) 7/2times the original amount
7/2 aom
4) 4times the original amount
43em
Correct Answer: 3times the original amount
37T
Candidate Answer: 4times the original amount
43om
Question 71.
Rs 782 is divided into 3 partsin the ratio %% :%, the first part is

L
Options:
1) Rs. 182
2) Rs. 204
3) Rs. 190

4) Rs. 196
Correct Answer: Rs. 204
Candidate Answer: Rs. 204

Question 72.Number of 5 types of cycles manufactured by a company over the years is given below :

Rl gt @ faera ast & fAfia 5 g & asfha Hr dear fArafafad g

Types of Cycles [ in 1000
year = BVF' C'r’ [ 2 ) -
19537 200 150 78 30| ]
1998 150 180 100 105 70|
1539 180 175 92 110 85
2000 195 160 120 123 75
2001 220 185 130 135 80|

What was the approximate percentage of increase in production of 'D' type of the cycle from 1998 - 2000

a¥ 1998-2000 & &frer D Feh T FTSThell & ScUTet H i T ITAMAT Tl TR ?

Options:
1) 10

2) 19
3)15

4) 17
Correct Answer: 19
Candidate Answer: 19

Question 73.Number of 5 types of cycles manufactured by a company over the years is given below :

TRl Fra=T @ faaT ast & fAfia 5 g & asfrdt fr dear fArafafad g

year vaeﬁ of Ccvcles [in :}om}. E
19597 200 150 78 30| G5
1998 150 180 100 105 70|
1999 180 175 92 110 85
2000 155 160| 120 123 75
2001 220 185 130 135 80|

In the case of which type of cycles was total production of the given 5 years the maximum ?

T TR 1 ArsTehell 1 foT 1T fa9TeT 5 @t 31 Fref Seueet e a1 ?



Options:
1)A

2)B
3)C

4)D
Correct Answer: A
Candidate Answer: A

Question 74.Number of 5 types of cycles manufactured by a company over the years is given below :

ToRET HFeiT @R faeTd aut & fAfHAa 5 geR H asfral S Tear Fefafad g

Types of Cycles | in 1000
year = BVF' C'r’ [ . ) -
19597 200 150 78 30| G5
1998 150 180 100 105 70
1599 180 175 92 110 B3
2000 155 160| 120 123 75
2001 220 185 130 135 B0

What was the percentage drop in production of A type cycle from 1997 - 1999 ?

a’ér1997#19993?EﬁirAWﬁmﬁ?m#ﬁmﬁqﬁammg?

Options:
1) 10

2) 25
3)20

4) 15
Correct Answer: 10
Candidate Answer: 10

Question 75.Number of 5 types of cycles manufactured by a company over the years is given below :

TR et gaRT faera ast & AT 5 R Hr asfnd & gear Ffafad &

Types of Cycles | in 1000
year = BVF' C'r’ [ . ) =
19597 200 150 78 30| G5
1998 150 180 100 105 70
1599 180 175 92 110 B3
2000 155 160| 120 123 75
2001 220 185 130 135 B0

The production of E type of cycle in 2001 was what percent of production of B type in2000 ?

E YehR T A1s el T 9§ 2001 FT 3cTTeed, B TR I Tisfhel & a¥ 20003 3caiesT T fhdet ufaerd or ?

Options:
1) 40

2) 50
3) 45

4) 25
Correct Answer: 50
Candidate Answer: 50

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ABORTIVE

Options:

1) PLENTIFUL

2) LAWFUL

3) UNSUCCESSFUL

4) FRUITFUL

Correct Answer: UNSUCCESSFUL

Candidate Answer: UNSUCCESSFUL



Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

IRASCIBLE

Options:

1) CRANKY

2) CHOLERIC

3) AMIABLE

4) WASPISH

Correct Answer: AMIABLE

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Thoruoghly

2) Thoroughly

3) Thoroghouly

4) Thorougholy

Correct Answer: Thoroughly

Candidate Answer: Thoroughly

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The trek is difficult (A) / but it is far worth (B) / the endeavour. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

What man can die (A) / better than (B) / serving his country? (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The teacher prevented (A) / the boys (B) / to go there. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He has no recommendations; he will
Options:

1) however

2) whatsoever

3) whereas

4) whatever

Correct Answer: however

Candidate Answer: however

, get the job.

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Leaves in autumn.
Options:

1) fall down

2) fall of

3) fall on

4) fall off

Correct Answer: fall off




Candidate Answer: fall down

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Each time he tried to climb the tree, he failed to do .
Options:

1) thus

2) then

3) so

4) this

Correct Answer: so

Candidate Answer: so

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A cuckoo in the nest

Options:

1) One who likes to stay at home

2) A view from a high place

3) An unwelcome intruder

4) One who is chosen as the leader of the group

Correct Answer: An unwelcome intruder
Candidate Answer: One who likes to stay at home

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A house of cards

Options:

1) An insecure scheme

2) A gambling house

3) A plan with high stakes

4) A place where cards are printed

Correct Answer: An insecure scheme
Candidate Answer: A plan with high stakes

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To smell a rat

Options:

1) To see signs of plague epidemic
2) To get the bad smell of a dead rat
3) To suspect foul dealings

4) To be in a bad mood

Correct Answer: To suspect foul dealings
Candidate Answer: To suspect foul dealings

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A small shop that sells fashionable clothes, cosmetics etc.
Options:

1) Store

2) Stall

3) Boutique

4) Booth

Correct Answer: Boutique
Candidate Answer: Boutique

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Interval between two events

Options:
1) Recess
2) Interlude
3) Shuttle
4) Prelude

Correct Answer: Interlude
Candidate Answer: Recess

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person's peculiar habit



Options:

1) Peculiarity

2) Trait

3) Distinction

4) Idiosyncracy

Correct Answer: Idiosyncracy

Candidate Answer: Distinction

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The priest told the devotees that the wages of sin are death.
Options:

1) was

2)is

3) were

4) No improvement

Correct Answer: is

Candidate Answer: was

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Careful drivers never take eyes of the road.
Options:

1) by

2) from

3) off

4) No improvement

Correct Answer: off

Candidate Answer: off

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

For all his wealth, he has no joy in life.
Options:

1) With

2) Beside

3) Despite of

4) No improvement

Correct Answer: With

Candidate Answer: Despite of

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The teacher asked him where_did he live.
Options:

1) he has been living

2) he lives

3) he lived

4) No improvement

Correct Answer: he lived

Candidate Answer: he lives

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The meeting was advanced until the following Monday.
Options:

1) adjourned

2) suspended

3) forwarded

4) No improvement

Correct Answer: adjourned
Candidate Answer: adjourned

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Of the many changes that have taken place thanks to liberalisation, a major one is that today's youngsters are earning more than ever before. In some cases, they
draw even fatter salaries than their parents. But are they blowing it up or sensibly saving it? Though some tend to splurge there are many who have started saving.
Some of them go in for mutual funds and tax saving bonds. Some even go in for investments which give them tax breaks - insurance, home loans, mutual fund
savings schemes. In fact the average age of a person taking a housing loan has come down from 41 to 28 in the last five years. Now, where do they get their
investment advice from? Some feel its a combination of friends, family, broker - advisors, the media and the net.

Liberalisation has enabled our youngsters to:



Options:

1) Be paid more

2) Work hard

3) Blow up money

4) Look after their money

Correct Answer: Be paid more
Candidate Answer: Be paid more

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Of the many changes that have taken place thanks to liberalisation, @ major one is that today's youngsters are earning more than ever before. In some cases, they
draw even fatter salaries than their parents. But are they blowing it up or sensibly saving it? Though some tend to splurge there are many who have started saving.
Some of them go in for mutual funds and tax saving bonds. Some even go in for investments which give them tax breaks - insurance, home loans, mutual fund
savings schemes. In fact the average age of a person taking a housing loan has come down from 41 to 28 in the last five years. Now, where do they get their
investment advice from? Some feel its a combination of friends, family, broker - advisors, the media and the net.

'Blowing it up' means:

Options:

1) Spending extravagantly

2) Exaggerating

3) Spending on smoking

4) Donating liberally

Correct Answer: Spending extravagantly

Candidate Answer: Spending extravagantly

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Of the many changes that have taken place thanks to liberalisation, @ major one is that today's youngsters are earning more than ever before. In some cases, they
draw even fatter salaries than their parents. But are they blowing it up or sensibly saving it? Though some tend to splurge there are many who have started saving.
Some of them go in for mutual funds and tax saving bonds. Some even go in for investments which give them tax breaks - insurance, home loans, mutual fund
savings schemes. In fact the average age of a person taking a housing loan has come down from 41 to 28 in the last five years. Now, where do they get their
investment advice from? Some feel its a combination of friends, family, broker - advisors, the media and the net.

The average age of a person taking housing loan has come down because he:
Options:

1) Gets fat salaries even at a young age.

2) Has wealthy parents.

3) Goes in for mutual funds.

4) Buys lottery tickets.

Correct Answer: Gets fat salaries even at a young age.
Candidate Answer: Goes in for mutual funds.

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Of the many changes that have taken place thanks to liberalisation, @ major one is that today's youngsters are earning more than ever before. In some cases, they
draw even fatter salaries than their parents. But are they blowing it up or sensibly saving it? Though some tend to splurge there are many who have started saving.
Some of them go in for mutual funds and tax saving bonds. Some even go in for investments which give them tax breaks - insurance, home loans, mutual fund
savings schemes. In fact the average age of a person taking a housing loan has come down from 41 to 28 in the last five years. Now, where do they get their
investment advice from? Some feel its a combination of friends, family, broker - advisors, the media and the net.

Which of the following is 'False'?

The investment that give people tax breaks are:
Options:

1) Mutual funds

2) Home loans

3) Savings scheme

4) Purchasing jewellery

Correct Answer: Purchasing jewellery
Candidate Answer: Purchasing jewellery

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Of the many changes that have taken place thanks to liberalisation, @ major one is that today's youngsters are earning more than ever before. In some cases, they
draw even fatter salaries than their parents. But are they blowing it up or sensibly saving it? Though some tend to splurge there are many who have started saving.
Some of them go in for mutual funds and tax saving bonds. Some even go in for investments which give them tax breaks - insurance, home loans, mutual fund
savings schemes. In fact the average age of a person taking a housing loan has come down from 41 to 28 in the last five years. Now, where do they get their
investment advice from? Some feel its a combination of friends, family, broker - advisors, the media and the net.

Which of the following is true'?



Options:

1) The youngsters today spend all the money they get
2) All the youngsters save all the money they get

3) Many youngsters save all the money they get

4) A few youngsters spend more while some save

Correct Answer: A few youngsters spend more while some save
Candidate Answer: A few youngsters spend more while some save



